Fiche Parts Page 1 of 3

(close window)
Motosport Hillsboro - Honda Suzuki Kawasaki 2005 SUZUKI
KTM VL1500, C90,T 2005- gu. .
809 NE 28th Avenue 2006 . rint
Hillsboro, OR 97124 WINDSHIELD C90T

(503) 648-4555

www. hillsboromotorcycles.com July 12, 2007

http://www .hillsboromotorcycles.com/fiche section popup.asp?fveh=7223&section=2990... 7/12/2007



Fiche Parts Page 2 of 3

FIG.61

N

VL1500K5 EO3 E28_061

REF# PART #REQ REMARKS YOUR PRICE
1 C90T CLASSIC WN 1 $629.95
990A0-70015-TRG
3 VL15C90 WNDSHLD 1 $168.95
990A0-70010-011
4 OUTSIDE PLATE,HORIZONTAL 1 $39.95

http://www.hillsboromotorcycles.com/fiche section popup.asp?fveh=7223&section=2990... 7/12/2007



Fiche Parts

20

21

22

23

24

25

26

990A0-70005-016

GASKET,HORIZONTAL
990A0-70005-017

GASKET,HORIZONTAL
990A0-70005-018

INSIDE STRIP,HORIZONTAL
990A0-70005-019

OUTSIDE STRIP,VERTICAL
990A0-70005-020

GASKET,VERT,INSIDE STRIP
990A0-70005-022

BRACKET,FRAME,VERTICAL,LH

990A0-70005-023

BRACKET,FRAME,VERICAL,RH

990A0-70005-024

CAP SCREW M6-1.0x20,SS,
990A0-70005-012

CAP SCREW M6-1.0x16,SS,
990A0-70005-013

NUT,HEX CAP, M6-1.0 88
990A0-70005-014

MOUNTING KIT
990A0-70005-003

STAY,WINDSHIELD,LH
990A0-70005-001

STAY,WINDSHIELD,RH
990A0-70005-002

CAP SCREW M8-1.25x16,SS
990A0-70005-028
BOLT,M8-1.25x40,SS
990A0-70005-029

BOLT,M8-1.25x50,SS
990A0-70005-030

EMBLEM,BOULEVARD
990A0-70005-007

LOWER ASSEMBLY,LH
990A0-70005-025

LOWER ASSEMBLY,RH
990A0-70005-026

TURN SIGNAL BAR
990A0-70005-027

(close window)

Motosport Hillsboro - Honda Suzuki Kawasaki

KTM

809 NE 28th Avenue
Hillsboro, OR 97124

(503) 648-4555
www.hillsboromotorcycles.com

2
2
1
1
2
11
1
1
1
1
4
3
1
1
1
1
1
2005 SUZUKI
VL1500, C90,T 2005-
2006
July 12, 2007

(prices subject to change without notice)

Page 3 of 3

$6.95
$12.95
$21.50
$16.95
$7.95
$33.95
$33.95
$3.25
$3.25
$3.25
$374.95
$87.95
$87.95
$4.95
$5.95
$5.95
$46.95
$77.95
$77.95

$133.25

I print

http://www .hillsboromotorcycles.com/fiche section popup.asp?fveh=7223&section=2990... 7/12/2007



